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SA MW 22

Schlammfang

DN 700/600

(Wanne)

D= 1048.89

E= 1047.16

A= 1047.14

S= 1046.15

T=    2.74

SA MW 23

Schlammfang

DN 700/600

D= 1049.12

A= 1047.71

S= 1046.72

T=    2.40

SA MW 24

Schlammfang

DN 700/600

D= 1049.02

A= 1047.61

S= 1046.62

T=    2.40

SA MW 25

Schlammfang

DN 700/600

D= 1047.91

E= 1046.52

A= 1046.50

S= 1045.51

T=    2.40

SA MW 26

Schlammfang

DN 700/600

D= 1047.26

E1= 1045.84

E2= 1045.94

A= 1045.82

S= 1044.83

T=    2.43

SA MW 20

Schlammfang

DN 700/600

D= 1047.51

E= 1045.89

A= 1045.87

S= 1044.88

T=    2.63

SA MW 21

Schlammfang

DN 700/600

D= 1048.51

E= 1046.45

A= 1046.43

S= 1045.44

T=    3.07
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